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F6 625 3,093 69,631 4,313 108 637 31,079 1,866
9 598 3,060 66,898 4,436 96 564 28,470 1,699
11 614 3,382 69,852 101 648 28,639
14 563 3,457 66,172 90 543 25,659 1,561
16 532 3,477 63,472 88 569 23,585
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16 314 150 91 41 29 38 32 19 13 6
9 304 151 85 32 26 33 26 24 9 4
11 294 152 83 49 36 41 23 21 8 8
14 266 134 7 55 31 34 25 19 7 5
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FETTE | WEEEE | FRHIARGHE | P TR
517 2,456 38,552 2,447
502 2,496 38,428 2,737
513 2,734 41,213
473 2,914 40,512 3,490
444 2,908 39,887
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1~2A | 3~4A | 5~9A [10~19A|20ALLE
276 118 72 28 23
271 125 61 23 22
253 129 62 41 28
232 109 58 48 26
211 98 65 40 30
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T 34 532 3477 63,472
iz 5% * 88 569 23,584
% Mg & @ 52 ¥ - - -
oME - KO % O#E B ¥ 5 20 388
TRHE Sh (IR . & DAY §h & FR<) 2 6 X
Kk H o [\ v 5 3 14 X
12/ Q= S = S R < | B RN 17 98 1,834
B &5 E W - K E W 10 43 715
= s . 11/ s 7 55 1,120
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Je:s L M £t 11 37 1,253
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B oM & H# e ¥ 25 135 8,181
— ok K M & B 24 515
H E)] H 3 X
wmoOox K oW & B 14 102 7,258
z O Moo H oW & B 1 6 X
z o M oo ®] 5w % 24 265 11,756
FH /@ AU v & E 5 68 2,617
SR S £ ¥ 7 107 3,290
ftt |2 43 FH S 4L 72 v H 8 12 90 5,849
N 5% * 444 2,908 39,887 38,520
% Mmoo A ' E 2 184 X X
HEE - -#H &5 X — X — 1 182 X X
z O fli o & T O M 1 2 X X
W - KR H @Bl E N 5E 3k 46 141 1,096 2,291
a2 R Ak Ho ® B 7 19 106 314
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LT EUN + fit R 24 64 412 1,067
(g . J& Y] 21 320 426
DM OFEY) - AR - H DEIY iy 20 113 236
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12/ - S = ST A N - S 184 1,446 18,204 14,510
% fit = s i 9 310 8,475 5,470

i 16 46 947 1,513

= A 12 34 263 330

fick fa 6 11 83 193

g % g S = 17 38 394 447

L + 23 N 39 145 909 1,241

P/S #* *H 9 22 376 228

z O Moo f& & B & 76 840 6,759 5,088
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H i H 20 79 1,970 458

H #is B 5 9 52 244
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% K BOH & 13 33 183 209

i Pk i A 25 100 549 983

T O oo U 9w O 5 12 189 272

z o o o A FE 144 904 X X
VSR ST & Bt & 39 255 3,977 2,613

= pois H M 1 2 X X

R B 8 64 1,192 X

== B . b’ H 26 187 1,493 950
A=Y L 23 A B e B L - 4508 12 27 382 611
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Re 3t - BR B - Ot OB M 7 26 297 407
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iEl 7 % /N
X AN

N I DN s I N I NN =
1 # 71 17 88 569 23,585 221 223 444
FnosOR AT 13 2 15 145 3,890 40 42 82
— T H 7 1 8 89 2,835 16 14 30
—~TH 4 1 5 48 X 2 9 11
= TH 1 - 1 6 X 8 9 17
m T A 1 - 1 2 X 14 10 24
B R 10 2 12 73 3,301 37 43 80
— T H 2 - 2 4 X 12 8 20
—~TH 2 - 2 28 X 2 4 6
= TH 3 - 3 19 862 7 5 12
m T A 1 - 1 9 X 4 6 10
T H 2 2 4 13 228 12 20 32
i TR - - - - - - - -
TR _ _ _ _ _ _ _ _
~TH - - - - - - - -
T i R’ 2 - 2 47 X 33 9 42
— T H 1 - 1 2 X 31 8 39
—~TBH - - - - - - 1 1
= TH 1 - 1 45 X 2 - 2
i n R 10 2 12 78 1,818 46 40 86
— T H 7 2 9 64 1,389 27 13 40
—TH 1 - 1 3 X 5 5 10
=TH 1 - 1 9 X 10 19 29
M T A 1 - 1 2 X 4 3 7
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38,520 2,908 39,887
12,107 645 10,362
1,010 150 1,445
X 33 X
X 133 X
X 329 X
3,989 466 4,124
X 122 X
X 20 X
666 86 1,143
X 55 X
1,326 183 1,244
X 463 X
X 451 X
X 2 X
X 10 X
4,748 486 6,314
2,389 245 3,791
X 45 X
X 109 X
X 87 X
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i3 vl 6 - 6 18 229 6 25 31
— T H 1 - 1 6 X 2 4 6

~ TH 1 - 1 4 X - 2 2

= TH 4 - 4 8 X 3 11 14

T H - - - - - 1 8 9

By iy 7 2 9 34 1,804 7 5 12
— T H 2 1 3 12 635 4 2 6
—~TH 2 - 2 10 X 1 3 4

= TH 3 1 4 12 X 2 - 2

A 7 M 10 3 13 38 953 13 13 26
— T H 5 1 6 20 554 5 5 10

—~ TH 2 - 2 5 X 1 1 2

= TH - 1 1 1 X 3 - 3

T H 3 1 4 12 293 4 7 11

P Ial it 6 3 9 38 1,469 21 25 46
— T H 2 - 2 13 X 2 3 5

~ TH 2 2 4 X 5 6 11

= TH 2 1 3 8 84 4 2 6

T H 2 - 2 13 X 10 14 24

R oo 3 2 5 46 X 9 11 20
— T H 1 - 1 15 X 3 3

— T H 1 - 1 3 X 2 - 2

= TH 1 - 1 23 X 3 2 5

m T A - 2 2 5 X 4 6 10

i I 4 1 5 52 4,569 9 10 19
— T H 2 - 2 11 X 6 3 9

~ TH 1 - 1 33 X 4 4

= TH 1 — 1 6 X 1 1 2

m T A - 1 1 2 X 2 2 4
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1,465 105 1,192
X 27 X

X 4 X

X 59 X
302 15 181
1,151 74 1,621
871 64 1,366
X 6 X

X 4 X
1,681 170 1,409
501 56 563
X 7 X

X 13 X
688 94 627
1,629 210 2,210
X 11 X

X 65 X
237 26 136
X 108 X

X 182 X

X 6 X

X 22 X

X 122 X

X 32 X
498 107 1,235
X 72 X

X 13 X

X 15 X

X 7 X
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